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select canhotonot0_.id as id1_28_0_, canhotonot0_.canhoto_importacao_id as canhoto_6_28_0_, canhotonot0_.created_at as
created_2_28_0_, canhotonot0_.documento_chave as document3_28_0_, canhotonot0_.empresa_cnpj as empresa_4_28_0_,
canhotonot0_.numero_nota as numero_n5_28_0_, canhotoimp1_.id as id1_26_1_, canhotoimp1_.canhoto_nota_id_ja_associado as
canhoto_2_26_1_, canhotoimp1_.data_hora_last_signed_url_generated as data_hor3_26_1_, canhotoimp1_.lote_id as lote_id7_26_1_,
canhotoimp1_.nome_arquivo_cliente as nome_arq4_26_1_, canhotoimp1_.ocr_processamento_id as ocr_proc8_26_1_, canhotoimp1_.s3_key
as s5_26_1_, canhotoimp1_.status as status6_26_1_, canhotoimp2_.id as id1_27_2_, canhotoimp2_.cnpj as cnpj2_27_2_,
canhotoimp2_.created_at as created_3_27_2_, canhotoimp2_.created_by as created_4_27_2_, canhotoimp2_.descricao as descrica5_27_2_,
ocrprocess3_.id as id1_79_3_, ocrprocess3_.bucket_name as bucket_n2_79_3_, ocrprocess3_.descricao_status as descrica3_79_3_,
ocrprocess3_.s3_key as s4_79_3_, ocrprocess3_.status as status5_79_3_, ocrprocess3_.tipo_imagem as tipo_ima6_79_3_,
resultados4_.ocr_processamento_id as ocr_proc8_80_4_, resultados4_.id as id1_80_4_, resultados4_.id as id1_80_5_,
resultados4_.dados_extras_processamento as dados_ex2_80_5_, resultados4_.data_hora_fim_processamento as data_hor3_80_5_,
resultados4_.data_hora_inicio_processamento as data_hor4_80_5_, resultados4_.data_hora_req_processamento as data_hor5_80_5_,
resultados4_.id_usuario_resp_processamento as id_usuar6_80_5_, resultados4_.ocr_processamento_id as ocr_proc8_80_5_,
resultados4_.resultado_textual as resultad7_80_5_ from canhoto_nota canhotonot0_ inner join canhoto_importacao canhotoimp1_ on
canhotonot0_.canhoto_importacao_id=canhotoimp1_.id inner join canhoto_importacao_lote canhotoimp2_ on
canhotoimp1_.lote_id=canhotoimp2_.id left outer join ocr_processamento ocrprocess3_ on
canhotoimp1_.ocr_processamento_id=ocrprocess3_.id left outer join ocr_processamento_resultado resultados4_ on
ocrprocess3_.id=resultados4_.ocr_processamento_id where canhotonot0_.id=?
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